Name

SUBTRACTION WORD PROBLEMS TO 50 SHEET 2

Date

WORKING OUT

1)

| see 36ﬁ

23 @ hop away.
How many ﬁ are left?

2)

Bert has 31 =me
Bob has 14 ==

What is the difference?

3)

There are 40 .

14 ’pop.
How many are left?

4)

| pick 27 g
| eat 15 g

How many are left?

5)

Tyger has 45 & . Frazer has 26 4.
How many more & does Tyger
have?

6)

There are 50 ::.Ws g‘-».
43@; * hop away.

What is 50 minus 267
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Name

SUBTRACTION WORD PROBLEMS TO 50 SHEET 2 ANSWERS

Date

WORKING OUT

1)

| see 36ﬁ

3@ hop away.
How many ﬁ are left? 13

36—23=13

2)

Bert has 31 um
Bob has 14 s

What is the difference? 17

31-14=17

3)

There are 40 .

14 .pop
How many are left? 26

40—-14 =26

4)

| pick 27 g
| eat 15 g

How many are left? 12

27—-15=12

5)

Tyger has 45 & . Frazer has 26 4.
How many more & does Tyger
have? 19

45-26=19

6)

There are 50 jwﬁ g‘-».

26 :'-ffs%. : hop away.
What is 50 minus 267 24

50—-26=24
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